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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2022

PHIACORO03T-PHILOSOPHY (CC3)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac T
Candidates should answer in their own words AT [NCS ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

Answer Question No. 1 and 2 and any two from the rest
SR @I R ATHA Ted M€ IR (A-CFC 76 2TH Ted SRRl (ATE wie
I. Answer any five questions from the following: 2x5=10

fsEie @-ciet 256 2vsw Ted wies

(a) How many types of Rna are there? Mention the names of different types of Rna.
Yo FOLFIF 8 Fl I 9

(b) How many pramanas are accepted by Carvaka Philosophy?
Bl welee <w2lG efsriel Fihla e AR 9

(c) What according to Nyaya Philosophy is the nature of Sannikarsa in the case of
perception of sound?

TR SR > SASTCF (I AL SAAE 27 9
(d) What are ‘the four noble truths’ in Bauddha Philosophy?
(T v¥{wa I W>A ey F 9
(e) What is ‘Triratna’?
[CEEEAR

(f) How many padarthas are admitted by Vaisesikas and what are they?
RIS o *midf T 2T 8 F F 9

(g) What is Paramarsa?
A FICE A 2

(h) What is the meaning of the term ‘Syat’ in Jaina Philosophy?
e T e * R o o

(1) How many abhdvas are admitted by Vaisesikas and what are they?
RIS 0o TR FoeFIF 8 Fl Fl 9

(j) What is ‘Paisicaskandha’?
ALTH ] 9
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2.

Answer any two questions from the following:
fasfeie @-ce 7 et Teq wies

(a) Why Fyapti is impossible according to Carvaka?

B 0o 1S T (e B W 9

(b) Briefly explain the Jaina doctrine of Anekantavada.

TG SAPIEI FEHCH A FEN

(c) Explain the eightfold path accepted by Bauddha Philosophy.

Qe e o3I el SEn S

(d) Explain Pasicavayavi Nyaya accepted by Nyaya system with suitable example.

2026

I MSIPAICH THIZITR, AL 7 G SN

Give an account of Carvaka materialism. Is this theory satisfactory?

PIIS Tedird [igel w8 | 3 W@ & FEEES 9

What is the meaning of the term ‘Sat’ in the Bauddha Philosophy? Explain
critically in this context, the doctrine of momentariness.

@ o o switg o F 9 G 2P Flaegam ARG s FE |

Explain the Nyaya definition of perception. In this connection, explain the
different types of laukika sannikarsa after the Nyaya Philosophy.

RO 2RJCF THeAD I TN G2 & P O TP [foq e @nies
A SriaeTR T PR |

Explain the nature of Samavaya after Vaisesika. Distinguish between Samavaya
and Samyoga.

@A el SRR TR i ba T S SN TR € RN [ A1y
IBEEEIcI

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

5%2 =10

10+5

3+12

5+10

7+8
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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2022

PHIACORO04T-PHILOSOPHY (CC4)
HISTORY OF WESTERN PHILOSOPHY-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

Answer Question No. 1 and 2 and two more questions taking one from each group (‘A’ and ‘B’)
SR ¢ YR e @R el B ¢ ¥ (ATF @I F0a fw =iAl 715 @ved Tea e

I. Answer any five questions from the following: 2x5=10

e @-ciet 56 2via Ted wies

(a) Explain with illustration the rule of Universal Generalisation.
Trizgerie AR AN Iwael 4G A1t Il |
(b) What is individual constant?
& & 1 2
(¢) Fill up the blanks:
e rEl 2 wCAle
(i) ~Gx)~ Fx= Fx
(i) ~ (x)(Cx o~ Dx)=(dx)
(d) What is meant by substitution instance?
NI 121 0o I @R 9
(e) What is the need for quantification?
T leTof eareHel Fi 9
(f) What is Analogical Argument?
Tl e FICP 0T 2
(g) What is variable? What are the types of variable? State their name.
a1eS FIE 0 9 AT PO LTI 9 O 1% T T4
(h) What is Ad-hoc hypothesis?
O 25 9
(1) What do you understand by sufficient condition?
e *[¢ F@Tce F @I 2
(j) Explain the addition theorem of calculating probability.
FEITS! AN @I FG{0 Iy S|
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2. Answer any two questions from the following:
fafeiie @it 7 eivea e mes
(a) Distinguish between truth function and propositional function with examples.
OIS 8 AGITF SCPHEFA N AL GRS 7= 1 FERM
(b) Symbolize the following sentences by using quantifiers, variables etc: (any two)
frefeie Tierefes Mae, Tiearns 2oyl MR LSIFIRe FCs (- 715)
(1) Some roads are passable if and only if they are dry.
I (I I 5eTi @iy A @R (9T M Grafer waeAl 23
(i) Men and men alone are rational.
W @R 9T N2 Jfagier™a |
(i) Dogs and Cats bite if they are either hungry or teased.
F$9 @R RO w2 FIwer 7 o[ Fure w12l e =31
(c) What is apriori theory of probability? State with example.
AR 7w oglb [ ¢ Tureael =AM WL FE |
(d) Explain the limitations of Mill’s method in brief.
fRcer omfed Mol HEF T FE|

GROUP-A
e+
3. Construct formal proof of validity of the following: (any three)
e Yfeeler Smete ([Fael ew FEie (-G foTi)
(a) (0)[Gx > (IxvVv Fx)]
(3x) (Gx- ~ Fx)
s (3x) (Gx - Vx)
(b) (x)(Lx D Hx)
(X)) (Ox > Gx) / . (x)[(Lx v Ox) D (Hx v Gx)]

(c) Bees and Wasps sting if they are either angry or frightened. Therefore, any Bee
stings if it is angry.
GIfR @ Q@iETe! W (3 M O T 27 TE OfS 2| TOAR, (@ &I Gy w=iw
(1 M O T R |

(d) All citizens who are not traitors are present. All officials are citizens. Some
officials are not present. Therefore there are traitors.

e el Al AZIE T, Ol ToifFe Wic| WA 2R i 27 AT | @ I
@I AT TofEe 721 TouR, AT Wizl

4. Determine the invalidity of the following arguments by the method of truth value
assignments: (any three)

e SRR =Rl e Yeelem sitagel amel F@is (@-@ fori)
(a) (3x)(Nx-Mx)
(Fx)(Nx - Lx) / . (x) (Lx D Mx)

2076 2
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(b)

(©)

(d)

(a)

(b)

(©)

(d)

2076

(x) (Dx D~ EX)
(x)(Ex D Fx) [ .. (x) (Fx D~ Dx)

Some men are bohemians. Some men are artists. Therefore some artists are
bohemians.

(I (I MG SIGE | (I (@I NG B Joar @ @i B oy

All generals are handsome. Some intellectuals are handsome. Therefore, some
generals are intellectuals.

FEE AN 2 W1 (@I (@ JwEI R | Wodd (@I @l GEiefe =7

EREl

GROUP-B
etal-2

What is scientific hypothesis? What are the criteria for evaluating scientific
hypothesis?

QeI 2T T A0 2 @RS 2F5 PR Manesf & & o it s

Calculate the probability of the following events: (Any three)
forferiie WAl TeRrel 6 F@ie (-t foafd)

In a book fair, there are five entrances. Four friends come to visit the book fair.
What is the probability of their entering the fair by the same entrance?

A1 AT 2T A A L R (A (A0S S| BlRere] 1% 952, &A1 A ey
YRR TSROl F9© ?

In drawing three cards in succession from a standard deck, what is the probability
of getting three hearts?

(1) Ifeach card is replaced before the next draw.

(i1) Ifthe cards are not replaced.

G AKIe SIGR AN QT #7247 foxid O weet f4e, Tt eirRE 2o 2119
Al PO 9

(i) W TS O (Sl SNl 7Fe! WG #Iices Refdca e =)

(i) T corett o el 1 e =)

What is the probability of getting at least one 5 from the toss of two dice?

(ORI TFICE F7R AR 7 et eraes a3q #ifb #Ielk FSirel F© ¢

What is the probability of getting atmost one head in three tosses of a coin?

@3 7! ToqaI fCwo! FA0eT Sl IFA (RT AVF AGRTS! F© 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

3+12

5x3=15
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Time Allotted: 2 Hours

The figures in the margin indicate full marks.

Candidares should answer in their own words

WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination. 2020

PHIACORO3T-PHILOSOPHY (CC3)

and adhere 1o the word limit as practicable. Gea A

‘v

4.(Q)

(b

2020

Answer any three questions from the follow ing
frferfe At feafy amsa Tga wie
General impression-2 marks
Ay 27-]

What is Padartha. according to Vaisesika School? How many kinds of Padartha
are admitted by them? Write the names. Define and explain the laksana of
Samanva after Vaisesika School. Discuss the classifications of Samdanya.

Tapfi o Sl FE A 9 AW I &R ¢ [ 6 g it W e wren A
e & SEYAEE WCETHA S

How many Bhiuas are accepted by Carvaka? What are they? Explain and
examine the Carvaka's view of atman.

srde Wi @Ul g AR 9 R AN @ SR FTE S e <] & fapra
2-@‘

Define perception following the Nydva. Distinguish between Nirvikalpaka and

Savikalpaka perception. How do the Naiviyikas prove the existence of

Nirvikalpaka perception?
T VOl AOTF INE a9 Feewe ¢ fieus aOUE AL ferae @1
T frer Aiese gorea Sy 2 I ¢

What are the Avavavas of Paiicavavavi Nvaya’! Explain with suitable examples.
AT W P e wanas & fa ¢ Sy (RTEe IR IRy S
How is viapei ascertained in Nydya philosophy?

Y e R TSR TN A ¢

Full Marks: 50

2feE FF TE Fe G I [ F
SIS A ST TR FE XFHNE WY

[+2+10+3

6+10
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5. (a) What is the meaning of *Syar" in Jaina Philosophy?

TG T IR a9

(b) Critically explain syadvada of Jaina Philosophy.

& i q% A 617 S

6. (a) What are the four noble truths in Bauddha Philosophy?

@ witwa B e o R {9

(b) Give a briefaccount of Bauddha pratitvasamutpadavada.

2026

(T HOTOTTYRATIT 7o e) A7 7G|

Make a distinction between Laukika and Alaukika Sannikarsa. Explain with
examples the different kinds of Laukika Sannikarsa.

T ¢ wENfes FRecda W e fefn e Tz [fen oo @
A QA S|

Write short notes on any two of the following:

frieie @i 7iba Bom B e
(i)  Arguments of Carvaka against Anumana pramana
S 2 [Rera SRR Ifemz

(i) Anckantavada
Eloearsig

(iii) Eight fold paths of Bauddha Philosophy
(Trareefea igiframtisl

(iv) Visesa as a padartha.

g ol

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp

to their own respective colleges on the same day / date of examination within | hour after

end of exam. University / College authorities will not be held responsible for wrong

submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

2+14

6+10

8x2=16
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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination. 2020

PHIACORO04T-PHILOSOPHY (CC4)
PHILOSOPHY, WESTERN LOGIC-11

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2 FT T Y 79T [ T
Candidates should answer in their own words FI=RIN] [Ared ©IT I FFI *FHNT W
and adhere to the word limit as practicable. Ge7 ofara

Answer any three questions taking at least one from each group (A & B)
TG (ACF AGS W w3 et farw b femfG amam Taa wie
GENERAL IMPRESSION: 2 MARKS
YIS TRFGTI 3 THd
GROUP-A
faem-=

I Write in short: 4+4+8

e Teg mgs

(a) Explain with example the principle of Existential Generalisation (E.G.).
Fifes Farieae Mol Turzaemz G11 T

(b) What is a substitution instance? Give example.
fCar 212 FI(& s 9 TaIzad Wi |

(¢) What is a normal form formula?
Find the normal form equivalent to the following:
e fafeorena e «:
(1) ~(3x)[~(Oxv~ Px)|
(i) —(3)[- (- Hxv.\y)]
(i)~ ()|~ (Sx- ~7Tx)|

2. Construct formal proof of validity of the tollowing (any four): 4-4=16
fermferfe Yfeefa wrem@ere tare! ewe wae (@-@E orafG)
(i) Some photographers are skillful but not imaginative. Only artists are
photographers. Photographers are not all skilltul. Any journeyman is skillful.
Therefore. not every artist is a journeyman.
oy TR 7% g TENER T (@EENG H7E THCEE | FE THEwE
HE Y| (A-(FA TR 5% | Fgare, 7 g gefeers
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(i) (X)[(Axv Bx)D(Cx-Dx)]/..(x)(Bx2Cx)
(i) (x)(GxD Ex)
() (Wx~Sx)

()X~ Ex)/ c(3x) (=~ Gy - ~ Sx)
(V) () (FyoGy)
() (Fx-~Gx)/ o (x)(Gx D Fx)

(v) Bananas and Grapes are fruits. Fruits are nourishing. Therefore. bananas are
nourishing.

T O TG T T | T 2 SR | [odR, FAl W ARSI
(vi) (x)(Ix>Jx)

(3x) (Ix-~ Jx)
S(x) (JxD Ix)

Det.ermme the invalidity of the following arguments by the method of truth value  4x4 = 16
assignment (any four):

FETY] SCANA = (e yfeafcd sitagel ene acai (-0 51a16)
() () (PyD~ Q)
(X)(PxD~Rx)/..(x)(RxD~ Qx)
(i) (X)[(Fxv Sx)D(Cx v Rx)]
(xX)[DxD(SxVv Rx)]
(x) (Fx=Cx)
(3x) Dx
~(3x)(Sx- Rx)
(i) (Ix)(Bx-~Cx)
(x)(Dx>~Cx)
S(x)(Dx > Bx)

(iv) No diplomats are extremists. Some fanatics are extremists. Therefore. some
diplomats are fanatics.
(@A FhAeE® 79 bau72 | (@A @A a5 Afe 20 vawe3 | Teaa, @
(@Il FhAIfoes g3l |

(v) If anything is metallic. then it is breakable. There are breakable ornaments.
Therefore. there are metallic ornaments.

T (@it g 41ga (o 70 ©7= O ©3a | oa siEel Wz | Hedl, 41ea (ofa 9%l e
R |

(vi) All anarchists are bearded. All communists are bearded. Therefore, all
anarchists are communists.

T AT ' Y| e IReWndl 2 Weqw | Aedr, Aaw
TSR SRS |

2076
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4. Answer any fwo questions from the following: [
frrisiie @-@E b evn Ted wes Illﬁ 3 LIBRARY o !

(a) t.xp.lanj \\enh‘cxamp\c the principal the Existential Instantiation (E.1.). Write the
limitations of the principle of L1 o

Twmaewe wfed wu@@ad (1)) sl A s yifas wBi@wa (1.1, e
Frnameiefe @
(h) Symbolize the following sentences by using quantifiers, variable etc.
e alarefEe Mas, afeaias Bejilud el AD\fary bl
(1) Some authors are successiul but not well read.
fag (eea we fag rlee
(i1) Lverything is beautiful.
¥fegg |
(i) Diana was not happy.
T R e A
(iv) Only lawyers and politicians are members.
TG WS 6 AT A |

(¢) What are the ditferences between propositional function and truth function? Write
with example.

S A G AR N A foefa e
What are the different ways of getting a proposition from propositional function?
aﬁmmm%&waﬁmmmmm?w.maﬁmml

(d

GROUP-B
Tom-4

5. Explain the differences between scientific and unscientific explanation. Discuss 8+8
with examples the seven stages of the scientific method.

[Gicalneaid mmm«wﬂmmmmnmﬁawmm@w
iy A

6. What is analogical argument? How does it differ from induction per simple 4+12
enumeration?
e SR S e <6 o @fE BICATR WNICAR A LT SR
ot <] (FAR ¢

7. Calculate the probability of the following cases (any four): 4<4=10
Ffarae raeferd FEIol foefn TS (CI-GFICAL BTTD)

(1) Anurn contains 6 red balls, 4 white balls and 5 black balls. What is the
probability of getting three black balls, if three balls are drawn from the urn?
aafo mcav%mﬁ,sﬁmmwaaiaﬁmaﬂml s (U@ fordE 4
o1 20 RowaIaE ICEAl T4 911G A1 FO ¢

(i) What is the probability that in rolling two dice the total number of points on
the top face would be ‘97
75 e wie wie @oirEa (G Qee » 241 TSIl F ¢

2076 3 Turn Over
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(i) In a book fair there are five similar entrances. Three friends have come to

visit the book fair. What is the probability of their entering the fair by the
same entrance?

9% 2T T 03E BTN wee e 7 AR (NF XS T [eNTA I
LTZ 2w T AATRE TR T ¢

B a7

(iv) What is the probability of not-getting a king in three successive draws of
cards from a deck of cards.
(/‘, et AT e fa.,qg_ TF Slels r:'_u<‘<i FTRR TF & SENR ¥
Ty

(v) What is the probability of getting three heads and a tail in tossing four coins

once”
51l 71 gawr s @arE e 2T ¢ qmare 3F 4TA R &€
8. Write short notes on (any two): B

B o (-t §fB)

(a) Lxplain with example Mill's Method of Agreement Show alwo its form
Tutzae fura @ wiata wleam firea s eals aen arm

(h) Cana hypothesis be absolutely verified ” Tustits vour anwwer
(FICA] 2R & puIverea muE o v o grwve Tatae e 1fe # g

(¢) 1 \|1|;|in and allustrate the product theorem and addition theorem of calculating
probabihin
HOTAT L] Nelellq QTEA & NG ¥ g Twiearsy a0y mra
(d) Write in short the Copi's criticism o1 Mill's method
W" e @ fe ToTE (&1 FUTEDNYT B (FA
N.B. : Studenis have 10 complete submission of their Answer Scripts througn E-mail W hot wpp
10 their own re SPective L‘u//x'g:_\ on e samie day  dade of exuamindtion witnim nour dfler
end of exam. Universin College awthorities will not he held responsible for wrong
submission (ar in proper address). Students are strongly advised not 1o submit muy tple
copies of the same answer script
X
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WEST BENGAL STATE UNIVERSITY
B.A. Honours 2nd Semester Examination, 2019

PHIACORO03T- PHILOSOPHY (CC3)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2ifee FaE " R 7T [ P |
Candidates should answer in their own words oAyl frea S Te T SFANE Y
and adhere to the word limit as practicable. Tew #R[91

Question No. 1 and 2 are compulsory. Answer any fwo from the rest.

> R AR R 2 W | iR cr-catl 75 ervaw Tea we

(8 Answer any five questions from the following: 2x5=10

e @-catet #1fof6 it Tea nies

(a) State the meaning of ‘Rna’ and name its different types.
Yo Mrwa e @t @3k @3 RifSw el am Sae wE

(b) Distinguish between ~S‘rey.a and Preya.
(T Q3R (29-7 WY 1T e

() What is Svabhavavada?
FORAM S 40 9

() Name the Realistic and Idealistic schools of Buddhism.
@z Wi IEAR & SIgaIA v e aw Srae Il

(e) What is meant by ‘Naya’ in Jaina Philosophy?
5 W T FE A 2

(# What is meant by @pra in Nyaya Philosophy?
TR SN T FT QR 92

(g) What are the five avayavas of a Paficavayabi Nyaya?
ARIFEA A #{60 3w F ) 2

fh) What sannikarsa is required for the perception of Sabdatva?
g LJTF (P FAAFE L 7

(¥ What kinds of Karma are accepted in Vaisesika Philosophy? Give their names.
(AR Wi 37 2R I FeE 91 2 ¢ OIeed wafe Sree 3t

(j) What are the Panca-kosa?
et [ 9

2026 1 Turn Over
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2. Answer any fwo questions from the following:
e @-rt 416 aioe Sea wes
(}J Discuss briefly the Carvaka theory of self.
SIS TR TSI FCHC Sl FEt |
(b) Explain the Jaina concept of Jiva.
T G 2o A I

(c) Explain briefly different types of laukika sannikarsa with examples after Nyaya
Philosophy.

TS SR [Kfon 221 @i FAaeE BTz ST SED I |
(&) Distinguish between Samavaya and Samyoga.
RN ' FRCA “hef fFefa sz

A. What are the Carvaka arguments in favour of the view that ‘inference is not a 10+5
source of veridical cognition’? Is this view satisfactory? Discuss.
T @ T - @2 e Wl weae Yfeels i F 2 9g e D AEEEEE ¢
D= 1

4. Explain critically the Buddhist doctrine of Nairdgtmavida. Is this doctrine 10+5
consistent with their Karmavada? — Explain.

@ RN ©F RoRede A I @3 Wo N el o ek e 9
— I AN

4 Explain the distinction between Nirvikalpaka and Savikalpaka perception after 8+5+2
Nyaya school. How do the Naiydyikas prove the existence of nirvikalpaka
perception? How is Savikalpaka perception known?

e Spie fARess e FRews eerwa ke e 3@ i e
AR erojrme wfg el 303 ¢ TRes o Il @l I 2

6. What do the Vaisesikas mean by abhava? How many types of abhava are  2+11+2
accepted in Vaisesika Philosophy? Explain with suitable examples. How is
abhava known?
ART WO TOR IMF IE ¢ eI Wi 30 o9FR TR FFo TR ? Te
SRR 1Y P | WSRCE IO Sl I 2

X

2026 2
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WEST BENGAL STATE UNIVERSITY
B.A. Honours 2nd Semester Examination, 2019

PHIACOR04T-PHILOSOPHY (CC4)
PHILOSOPHY, WESTERN LOGIC-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2N T T TGN 20 e T
Candidates should answer in their own words /IR [T ©IT IR G A WY
and adhere to the word limit as practicable. Be7 Ffca!

Answer Question No. 1 and 2 and /wo more questions taking one from each
group (A & B)

> MR AR TR M qT Tl F ¢ ‘¥ (A 93w Frew WAt 57 eivew T whe

l. Answer any five questions from the following: 2x5=10
e -t «isf eves Ter we:
Ja) What is propositional function? Give an example of it.
TEACHFE FICE 30 2 G0 SRIZI 76 |
) Explain Principle of Universal Generalisation.
i@ AT S I I
(c) Is the following statement correct?
frafafie 3l & e o
~(3x)~ Mx = ~(x) Mx
(d) What is quantifier? What are its types?
W FE I 2 WS IO &FE 9
(e) What is individual constant?
& &3 I3 W 2
(f) What is analogical argument?
Ty Ry
(g) What is the product theorem of calculating probability? — Explain.
FTEITS! st @ @i & ¢ — I I
(h) Give the form of Method of Difference.
TS *wElSa SRR eNa |

2076 1 Turn Over
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| m
(i) What are the particular cases for which the Method of Concomitant Variation |' 7 LIBRARY 2
most suitable? ! ﬂ& &

I (19 R0 a2 21fRSH ~1wf 75y @ Beicad ¢
(j) Distinguish between free variable and bound variable with illustrations.
& 6iZS € 34 AliRE@d W ~A14e R e I

7. Answer any fwe questions from the following: 5x2=10
fafERe -t 76 aivs Tea wies
(a) State and explain the limitations of the rule of Existential Instantiation (E.I). 5

SR B8 (E.1) farm e i s
(}d Symbolise the following sentences by using quantifiers, variables etc. (Any two) 2_5_ +2
fasfaiie s fis s, afars Tefa s edifie s (@-@e §b)
() Nothing is both safe and exciting.
BT g 4 AA fadiom @ Traes 71
(y’) A girl will win if and only if she is lucky.
T e ol 2ER A 3R e i o Sl 23
(iii) Sita is a good singer.
et et

Explain with example the Joint Method of Agreement and Difference. Show also 5
its form.

Trrzzet fica ¢ wieeta crfen wel-aforad! ==l st
(d) What is the need for quantification? 5

Vil ereame & ¢

1
2

Answer fwo questions, taking one from each group

7% et cdee 93 fe s 12 et oy e 5% @rowa Bea wie
GROUP-A

feem-=
3. Construct formal proof of validity of the following: 5x3=15
e feekm TReRee ([@ue! amid F:
B () (Cx>~Dx)

(3x) (Cx-Ex)
2. (3x) (Ex-~ Dx)
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(ii) Socrates is mortal. Therefore, everything is either mortal or not mortal.
HCEHHH TR | FSAR TR T Ao S e[t o |

(iii)Oranges are sweet. Lemons are tart. Therefore, oranges and lemons are sweet
or tart.

FwEe 81 5% | TeaR T O R ¢ W Al @t b

Det-ermine the invalidity of the following arguments by the method of truth value  5x3 =15
assignment:
FETE WA @ fReare Jeafrs st e el
/0') (3x) [Px - (4x-~ Ix)]

(x)(Px> Gx)

(3x) (Px -~ A4x)

(x) (Sx o 4x)

-, (3x) (Sx -~ Gx)

() There is nothing made of tin that is not cheap. No rings are made of lead. Not
everything is either tin or lead. Therefore, not all rings are cheap.

= fafife av e & et st 78| i s oz tod w1 ) g B
s A w9 | FoIR 7 GRS 78 7

i) @QX) (MX - NX)

(3X) (MX -0X)
- (X)(OX o NX)
GROUP-B
Rerl-4
What is Hypothesis? Explain the criteria used for assessing the worth of 5+10
hypothesis.

2 FH F 9 oFF PRI WHwesfa Gy Sl

Calculate the probability of the following cases: 5x3 =15
fsfaRe craefim seRye! fefa e

(i) Four men have their houses in four comers of a square. They spent one
evening in the centre of the square. At night, each person went back to one
of the houses, no two going to the same house. What is the probability that
each one reached his own house?

3 Tum Over
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(i) What is the probability of getting three hearts, in drawing three cards in
succession from a standard deck?

(a) If each card is replaced before the next draw.
(b) If the cards are not replaced.

93 O A A 7o 3 o g Feer ool wirR =en =@
HAETO F© 9

(a) 3 ~itwa O ot SIe #iSt o “iiee s Refia crea 7
(b) W coren S TR Tt (rem =W

() What is the probability of getting at least one and at most one head in tossing
three coins?

ol sat B et oo WFR R SHIEE I (T AR TSRS FC ?
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